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SECTION ONE: LISTENING

· Bài nghe gồm 2 phần, mỗi phần được ghi âm 2 lần. Giữa 2 lần ghi âm của mỗi phần và giữa các phần có một khoảng thời gian chờ. 

Part 1: Listen to the conversation and choose the best answer to each question. (7pts)
1. Why did Sophie take up translating?

A. She had studied modern languages at university.


B. She sometimes used to do translations for friends.


C. She enjoyed reading texts in other languages.
2. At present, which subject is she specialising in as a translator?


A. medicine


B. law


C. business

3. Which, according to Sophie, are the most difficult things to translate?


A. cultural references

B. informal expressions


C. scientific and technical words

4. Where does Sophie get most of her work?

A. directly from official organisations


B. through translation agencies


C. from contacts in private companies
5. How does she feel about her daily working hours?

A. They are always too long.

B. They shouldn’t include evenings.


C. They vary too much.

6. What does she say about money?

A. She earns less now than she used to.


B. She thinks she pays too much tax.

C. She seldom gets paid on time.

7. Sophie believes that in the future

A. translating will all be done by machines.


B. more languages will need to be translated.


C. translators will have to be better trained.

Part 2: You will hear part of a radio programme about reducing the amount of packaging used by supermarkets. Listen and complete the sentences. Use NO MORE THAN THREE words or/and numbers in each blank. There is an example at the beginning (8pts)
Supermarkets are being forced to change their attitude to excessive packaging by (0) (the/their) customers.
According to a study, around (8) …………of people want to reduce waste.

Some items in packages, such as (9) …………., are also wrapped individually.

Most people think it is wrong to wrap (10) …………..in plastic.

Shoppers at some stores can now put excess packaging into (11) ………….when they pay.

Some people suggest giving bad (12) ………….to supermarkets that use too much packaging.
According to the manufacturers, a lot of packaging is (13) …………nowadays.

An official organization thinks that supermarkets should pay a special (14) …………. .
Shoppers rarely receive free (15) …………..these days.

SECTION TWO: PHONETICS

Part 1. Pick up the word whose underlined part is pronounced differently from the others. (3pts) 
16. A. complete

B. command

C. common

D. community

17. A. inversion

B. immersion

C. conversion

D. supervision


18. A. months


B. paths

C. wreaths

D. youths


Part 2. Choose the word whose main stress is placed differently from the others in each group. (2pts)   

19. A. generous 

B. suspicious 

C. constancy 

D. sympathy

20. A. therapeutic

B. conscientious
C. fanaticism 

D. orthographic 

SECTION THREE: 
LEXICO - GRAMMAR 

Part 1. Choose the word or phrase (A, B, C or D) which best completes each sentence. (10pts) 

21. The television isn't working. It …………..during the move.

A. should have been damaged 


B. needn't be damaged

C. must have been damaged 


D. ought not be damaged

22. I have never seen …………….. before.


A. such good film
B. so good film
C. so good a film
D. such good a film

23. “I don’t think I can do this.” – “…………….”

A. Sure, no way!



B. Yeah. It’s not easy.


C. Oh, come on! Give it a try!

D. No, I hope not.

24. This pupil is notorious for playing ………..… from his mathematics lessons.


A. truant

B. runaway

C. absent

D. joyride

25. They live in a very…………. populated area of Italy.

A. sparsely

B. scarcely

C. hardly

D. barely

26. She said she liked dancing but was not in the …..……..for it just then.


A. opinion

B. frame

C. mood

D. manner

27. Bob: “Our team has just won the last football match.”

      Michael: “……………………!”

A. Good idea. Thanks for the news

B. Yes. I guess it’s very good

C. Well, that’s very surprising

D. Yes, it’s our pleasure

28. He was so ……….… in the book that he did not hear her footsteps.

A. distracted

B. engrossed

C. gripped

D. attracted


29. No one will fly off the ……………..for no reason.

A. roof


B. handles

C. hands

D. head

30. His personal problems seem to have been ……….…. him from his work lately.


A. disrupting

B. disturbing

C. distracting

D. dispersing
Part 2. Read the text below. Use the words given in capitals at the end of each line to form a word that fits in the gap in the same line. There is an example at the beginning (10pts)


Part 3.  Complete each sentence with the correct form of a phrasal verb in the box. Use each once only. There is one extra phrasal verb which you do not need to use. (5pts)

	   walk out on                          crop up                             fish for                          

   ward off                               feel up to                           walk up                       


41. I’m sorry I’m late. Something urgent ……….. at the office, so I couldn’t leave early.
42. What made Peter ……….. his family and his job? Where did he go on and why?

43. Giving up smoking is just one of the ways to…….…. heart disease.

44. Are you…………… compliments?

45. If he …………. it, we will walk into town.
Part 4. IDENTIFY the underlined word or phrase in each sentence that needs correcting and CORRECT it.  (0) and (00) have been done as  examples. (10pts)

0. went on my interview
→ went for my interview
00. informations 

→ information
	THE BOSS FROM HELL

Before I went on my interview for the job with Cramer and Blake Services, I talked to a few people and found out some informations about the company. This strategy worked very effectively as it gave the impression that I was keen and committal and I was offered the job by the personnel manager on the spot.

I was absolutely delighted at first, but I soon discovered that my new boss, Tom, worked totally hard, spending all his time in the office and never leaving before 8    p.m. He expected the same grade of commitment from his employees - the workload he expected each and every one of us to carry was completely unreasonable. He accused anyone who didn’t work overtime regularly of not making their fair share and letting the team down. I decided to put up to the situation without complaining for a while but lastly I fell I had to confront Tom. I told him I wasn’t prepared to work so hard for such a low salary. Tom said that I had large potential and could easily get to the top if I was prepared to have an effort. However, he absolutely refused to reduce my workload and so in the end I decided to hand out my resignation.

Just a week later I got another job in Cramer and Blake’s main competitors. Now I’m earning twice as high as my old boss, and my job’s twice as interesting. I work equally  long hours – but I’m glad I moved. I haven’t got to the top yet – but I’m well on the way!
	..0..
..00…
46…...
47..….
48…...
49…...
50…...
51…..
52…..
53…..
54…..
55…..


SECTION FOUR: READING COMPREHENSION 
Part 1. Read the text below and decide which answer (A, B, C or D) best fits each gap. (10pts)

The first American immigrants, beginning more than 20,000 years ago, were intercontinental wanderers: hunters and their families following animal (56)……….. from Asia to America, across a land bridge where the Bering Strait is today. (57)……….. Spain’s Christopher Columbus “discovered” the New World in 1492, about 1.5 million Native Americans lived in what is now the continental United States, although estimates of the number (58)……….. greatly. Mistaking the place where he landed – San Salvador in the Bahamas - (59)……….. the Indies, Columbus called the Native Americans “Indians.”

During the next 200 years, people from several European countries followed Columbus across the Atlantic Ocean to explore America and (60)……….. up trading posts and colonies. Native Americans suffered (61)……….. from the influx of Europeans. The transfer of land from Indian to European – and later American – hands (62)……….. accomplished through treaties, wars, and coercion, with Indians constantly giving (63)……….. as the newcomers moved west. In the 19th century, the government’s preferred solution to the Indian “problem” was to force tribes to inhabit specific plots of land called reservations. Some tribes fought to keep from (64)……….. land they had traditionally used. In many cases the reservation land was (65)……….. poor  quality, and Indians came to depend on government assistance. Poverty and joblessness among Native Americans still exist today.
56.
A. herds

B. flocks

C. bunches

D. packs
57.
A. During

B. When

C. Not until

D. Meanwhile
58. 
A. adapt

B. adjust

C. vary


D. modify
59.
A. to


B. like


C. for


D. with
60.
A. bring

B. make

C. go


D. set
61. 
A. deliberately

B. marginally

C. greatly

D. vaguely
62.
A. were

B. have been

C. was


D. had been
63.
A. way


B. road


C. signal

D. direction
64.
A. breaking down
B. staying up

C. giving up

D. coming about
65.
A. in


B. with


C. of


D. under
Part 2. Read the text below and think of the word which best fits each gap. Use only ONE word in each gap. (10pts)
To some, the wearing of jewellery for adornment may appear self-indulgent. If (66)………. , it is a self-indulgence common to all ages and all places. From prehistoric times crude necklaces and bracelets were (67)……….. fashioned from leather or reeds and strung with berries, pebbles, feathers, shells or animal bones, and decorative thorns or sharp bones were used (68)……….. clasps. They may have complemented the caveman’s fur outfit (69)……….. been worn as part of a religious ceremony, to indicate superior rank and even as amulets to ward off bad luck. Gradually, ivory, wood and metal took over from (70)………..durable materials, and ears, noses and lips (71)……….. pierced for the insertion of ornaments. By 3500 BC, the discovery (72)……….. gold heated with the fire could be pounded into thin sheets and shaped (73)……….. objects had revolutionized jewellery-making. Similarly, silver, copper and bronze were now being used. In the late 2000s BC the Egyptians began inlaying jewellery with glass, enamel and precious gemstones, some of (74)……….. were believed to possess magical properties or bring the wearer good fortune, both now and in the afterlife, as mummies were adorned with them. Slightly later, the Greeks (75)……….. in for fine filigree metalwork, twisting gold into intricate patterns and rarely using precious stones. These later were reinstated by the Romans, who may have been the first to use jeweled rings as engagement tokens.   
Part 3. You are going to read an article about a famous picture of the Earth taken by astronauts circling the moon. Seven sentences have been removed from the article. Choose from the sentences A-G the one which fits each gap (76-80). There is one extra sentence which you do not need to use. (0) has been done as an example. (5pts)

THE FIRST PICTURE OF EARTH FROM SPACE






By Steve Connor

The first picture of our world taken from space was published over 40 years ago, yet it still has remarkable power.

They went to the moon, but ended up discovering the Earth. The crew of the US space vehicle Apollo 8 were the first people to leave Earth’s orbit and they had been prepared for just about every possibility. The only exception was the astonishing sight of seeing our own planet above the horizon of the moon.

It later became known as ‘Earthrise’, from the world sunrise. This image of a small blue world rising in the dark vastness of space over the sun-lit surface of the moon was to become a constant reminder of just how alone, and how delicate, our planet really is. (0)…E…… . Remarkably, it was taken over 40 years ago.

The three-man crew of Apollo 8 – Frank Borman, Jim Lovell and Bill Anders – were the first people to circle the moon. They flew around the far side, which is not visible from Earth. (76)………….…. . They were not able to see or radio Earth for the duration of their journey behind the moon, and it was only when they had completed the orbit that they could again communicate with Mission Control Centre in Houston, Texas.

Perhaps surprisingly, for the first few orbits the crew had their backs to the Earth as it reappeared over the moon’s horizon and did not see the now-famous view that would change their lives. (77)……….….... . ‘Look at that picture over there! Isn’t that something?’ he said, his words captured for history on the on – board tape recorder.

They quickly searched for a camera – the first couple of images of ‘Earthrise’ were in black and white, the following photos were taken in colour. It is these photographs, taken approximately 350,000 kilometres from Earth, that became the favourite images of the environmental movement. (78)………….. . It was a symbol of warmth and life in a bare desert of deathly coldness.

‘Earthrise’ would change forever our view of our own planet. It summed up the fragility of a place that seems so immense to the people who live there, but so tiny when viewed from the relatively short distance of its companion in space. Following the 1968 pictures, hundreds of still imagines were taken of Earth during the nine Apollo flights to the moon, but in 1972 manned flights to the moon ended. (79)…….…….… .
Astronomer Carl Sagan caught the mood well when another picture of Earth was taken from space, by the Voyager 1 spacecraft in 1990. (80)……………. . In this picture, the Earth appeared as a ‘pale blue dot’ surrounded by the vastness of space, like a tiny bit of dust caught in the sunshine.

‘Look again at that dot,’ he said a few years later. ‘That’s here. That’s home. That’s us. On it everyone you love, everyone you know, everyone you ever heard of, every human being who ever was, lived out their lives. Our imagined self-importance, the false belief that we have some special position in the universe, is challenged by this point of light, Our planet is a lonely little place in endless space.’
	A. Consequently, only 24 people have actually seen the whole of the Earth from space.

B. It was only on the fourth time round that one of the men turned and saw it.

C. This time the distance was nearly six billion kilometers.

D. Borman, however, has always claimed that he took it.

E. It was a picture that would eventually lead to a thousand environmental movements, such was

     its effect on the public consciousness.

F. They showed the clear contrast between the grey, empty surface of the lifeless moon and the

     bright blue-and-white ball of the fertile Earth.

G. They were also in effect the first people to lose contact with their own planet.


SECTION FIVE: WRITING

Part 1. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it. (5pts)

81. We are not living together any more because she went away to university.


→ We would still…………………………………………………........

82. What mainly distinguishes man from other animals is the power of speech.


→ Man is………………………………………………………….…....

83. It was only when I checked that I noticed the tyre was flat.


→ Only when ………………………………………….…….................

84. Bruce said that the situation at work was like a family argument.



→ Bruce likened ………………………………………………………
85. At first I felt so tense, but her smile helped me to get back my confidence.

→ Her smile melted……………………………………….…………..

Part 2. Complete the second sentence so that it has a similar meaning to the first sentence using the word given. DO NOT CHANGE THE WORD GIVEN. You must use between TWO and FIVE WORDS, including the word given  (5pts)

86. Ill health resulted in his inability to do the job.                      

COPE
→ He was………………..… the job because of his ill health.
87. He was finally able to adjust himself to the new working condition.
SWING
→ He finally……………………. the new working condition.
88. Trade has deteriorated and staff are being laid off.


WORSE

→ Trade has………………….… and staff are being laid off.

89. If she ever learns about this news, she’ll be furious.


EARS 



→ If this news ……………… she’ll be furious.


90. Your attitude will have to change if you want to succeed.

LEAF
→ You will have to……………….… if you want to succeed.

Part 3. Essay writing. (10pts)

There are now some competitions held for school students who are interested in. Some people think that these competitions are just time-consuming and make students more stressed, while others believe they bring about a lot of benefits.

In about 250 words, write and discuss both these points of view and give your own opinion.
…………………………………………………………………………………………………………………………………………………………………………………………………………….………………………………………………..
------THE END------[image: image1.png]
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Số báo danh:................................





The essence of flamenco is song, often accompanied by the guitar and improvised dance. Music and dance can be placed into specific groups. These (0) categories are usually located across a continuum with subjects dealing with the profound to those that are light-hearted. (31)………… the themes of death, anguish and despair, in contrast to love, gaiety and the countryside are (32)………… . In flamenco dance, the men’s steps are intricate, with toe and heel clicking. Footwork in women’s dancing is of less importance, with the (33)…………. use of hands and body taking (34)………... . In the dance, the arm, hand and foot movements closely resemble those of classical Hindu dance. Essential to traditional flamenco is the performer’s interpretation of the dance (35)…………. by the emotion of the music. Performances are often accompanied by rapid hand clapping, finger snapping and (36)………….shouts. The dancers themselves frequently employ finger snapping in complex rhythms including the use of castanets. This dance form was (37)………….in the 19th century, when Romany people first began to perform in cafés. In this environment, (38)………….from the traditional form occurred. Unfortunately, the pressures of the (39)………….stage meant that rehearsed routines replaced the (40)………….of the original flamenco performances.
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